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(English Version)

Note : (1) You must write the subject-code/paper-code 053/ A in the box provided on the title
page of your answer-book.
(i) Make sure that the answer-book contains all pages (including title page) intact and
are properly serialed as soon as you receive it.

(i) Question/s attempted afier leaving blank page/s in the answer-book would not be
evaluated.

(iv) Paper has total 17 questions.

(v) All questions are compulsory to answer.

(vi) Question no. 1-5 carry I mark each.

(vii) Question no. 6-13 carry 2 marks each.
(viii) Question no. 14-16 carry 3 marks each.

(ix) Question 17 will carry 5 marks with internal choice_in it.

All questions are of one mark \'))’\,\-q i
1.  When atoms are placed at the corners of all 12 edges of cube, how many atoms are present per
unit cell 2 @ o) xlr<b
cell 7 ‘/% N ) 1
2. Why do animes act as nucleophiles ? @ 1
3. Write chemical name of Vitamin C. \Di ( 1
. 5 0"
4. What are Biodegradable polymers ? ?\ \ni L 1
. AN )
5. Defineantacids. .. ; _— ‘Q\SCOJ y 1
( ot » : 5x1=5

All questions are of two marks

6. Incubicunitcell is made up of X and Y elements. If X are present on the corners of the cube and

Y are present on centres of faces of cube, then find the formula of the compound ? 2

7. Why Haloarenes are chemically less reactive than Haloalkanes (Give only two reason)? 2

8. Write Coupli;lg reaction. 2
or

(5]

Write Reimer Tiemann's reaction. :
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Why phenols are more acidic than alcohols ?

Write and explain Hell Volhard Zelinsky reaction. 2

Why Benzaldehyde is less reactive than formaldehyde ? 2
or

Write Rosenmund reaction. 2

Give two differences between reducing and non-reducing sugars. .

What are artificial sweetening agents ? Give one example. 2

8x2=16

All questions are of thrce marks

Write the monomers and give preparation of Nylon-6,6. 3

(a) Explain why methylamine is stronger base than ammonia ?

(b) How will you obtain chlorobenzene from Aniline ? 2+1=3
or

(a) ConvertAniline to Phenol.

(b) Explain why secondary amine are more basic than primary amine ' 1+2=3

An element having bce geometry has atomic mass 50 g mol™'. Calculate the density of the unit
59
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All questions arc of five marks 30\030 % L\o
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cell if its edge length is 290 pm.

Write the following reaction :
(a) Sandmeyer reaction

(b) Waurtz Fittig reaction
(c) Ullmann reaction

(d) Friedel-Craft alkylation reaction
(e) Hunsdiecker reaction
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or
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(a) Give three differences (Sn2) Substitution Nucleophilic Bimolecular reaction and (SN')
(Substitution Nucleophilic Unimolecular) reaction.

(b) Define:

(1) Retention (i) Inversion 3+2=5
| OtH3
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